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Core Focus on Rational Numbers & Equations
Block 4 Review ~ Solving Equations
Name__________________________________________      Period______      Date____________

UPart I – Selected Response 

1. Which of the following word phrases describes the expression 
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?  Circle all that apply.
A.  five minus x
B.  five less than x
C.  the sum of x and five

D.  the quotient of x and five

E.  x minus five

2.  What is the value of 
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A.  −15

B.  −1

C.  5

D.  15

3.  The sum of w and eleven is three.  What is the value of w?

A.  14

B.    8

C.  −8
D.  −14
4.  Select the equations where x = 8 is the solution.  Circle all that apply. 
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5. Jill is thinking of a number.  Four more than three times the number is thirteen.  What is the number?
A.  1.8


B.  2.3
C.  3


D.  4
6.  Which expressions are equivalent to 
[image: image10.wmf])

1

(

4

-

x

?  Circle all that apply.
A.  
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7.  Which of the following expressions is 
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 in simplest form?

A.  
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8.  What is the solution of the equation below?
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9. What is the first step that should be taken to solve the equation 
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?
A.  Divide both sides of the equation by 5.

B.  Subtract 3y from both sides of the 

      equation.

C.  Divide both sides of the equation by 3.

D.  Rewrite 5y + 3y as 8y.
10.   What is the solution to the inequality shown below?
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For numbers 11a – 11c, circle YES or NO for each statement.  Use the graph below.


11a.  The graph represents 
         the inequality 
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11b.  Negative five is a 
         solution to the inequality.
11c.  This graph represents 
         the solution to the 
         inequality 
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UPart II – Constructed Response

1. Write an algebraic expression for the phrase “the product of seven and p”.  


2. Is 8 the solution of the equation 
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    Explain how you know your answer is correct.  
Evaluate each expression.

3.  
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Simplify each expression.
5.  
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Solve each equation.  Show all work necessary to justify your answer.
9.  
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Solve each equation.  Show all work necessary to justify your answer.
15.  
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Solve each inequality.  Graph the solution on a number line.
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Write an algebraic equation for each sentence.  Solve the equation.
20.  The sum of y and thirty-seven is one-hundred.
     
21.  Five less than the quotient of x and three is two.
     
22.  Each month the police department hosts a hot dog feed.  This month, 56 people attended the hot 
       dog feed.  This was 10 more than twice as many people than were at the hot dog feed last 
       month.  Write and solve an equation to determine how many people attended last month’s hot 
       dog feed.

23.  The perimeter of a rectangle is found using the formula 
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 where P is the perimeter, l 
       is the length and w is the width.  A rectangle has a perimeter of 80 centimeters and a side length 
       of 14 centimeters.  What is the width of the rectangle?  Explain how you know your answer is 
       correct.
24.  Karen is at least 4 years more than twice Mary’s age (m).  Karen is 46 years old.  Write an   ‘

       inequality that represents Mary’s age.
25.  Yolanda solved the equation 
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as shown below.  Is her answer correct?  If yes, how do 

       you know?  If not, explain what she did wrong and fix it.
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UPart III – Problem Solving

Tammy calls her grandmother every Saturday night.  There are two phone companies she can use: TelCom charges $0.12 per minute and United Phone charges a flat fee of $0.78 plus $0.09 for every minute thereafter. How many minutes can Tammy talk to her grandmother and be charged the same amount by either phone company?
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 Yolanda’s work:





    2 − 5x = 14


  −2           −2


          5x = 12


           5      5











Answer:  x = 2.4
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